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2002 HIGHER SCHOOL CERTIFICATE EXAMINATION

Geography

Centre Number

Section II

25 marks Student Number
Attempt Questions 16-19
Allow about 45 minutes for this section

Use the Stimulus Booklet and your knowledge of geography to answer Questions 16—19 in the
spaces provided.

Marks
Question 16 (6 marks)
Refer to Source C.
Using evidence from the photographs, identify ONE challenge of living in mega cities 6

in the developing world and describe TWO responses to this challenge.
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voameerstones - Stimulus Booklet
Source A - Population Sao Paulo, 2000 Source B - The Changing Population
L Brazil 19502000
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s @@ B i o 1950 33162 64 18782 36 51944
..... . ] 1960 38 767 9 31303 45 70070
""""" 1970 41 054 44 52 085 56 93139
N 1980 38 566 32 70 436 68 119 002

1990 35669 24 114699 76 150 368
2000 29773 18 135632 82 165405

Percentage
Total population 17.8 million
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